


2A.2 (B) graph and write the inverse of a function using
notation such as f~1(x);

2A.2 (C) describe and analyze the relationship between a
. function and its inverse (quadratic and square root,
logarithmic and exponential), including the restriction(s) on

k%" domain, which will restrict its range;

2A.2 (D) use the composition of two functions, including the
necessary restrictions on the domain, to determine if the
functions are inverses of each other.

2A.5 (C) rewrite exponential equations as their
corresponding logarithmic equations and logarithmic
equations as their corresponding exponential equations;




including the necessary restrictions on the domain, to
determine if the functions are inverses of each other.

\\5 We will be able to use the composition of two functions,
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8 Difference: (f— g)(x)

Product: (fg)(x) = f(X) - g(x)
) =

Operations and Composition of Functions

X) + 9(X)

(T+ g)(x) = 1(
i(x) — g(x)

X

f(x)
g(x)"°
Composite: (fog)(x)=F(g(x))

Quotient: (f/g)(x

g(x)#




The exponential function f with base b is defined by
fix)=b or y=Db

N Where b Is a positive constant other than 1 (b > 0 and
A b #1)and x is any real number.

Forx>0and b>0 b#1,

y =log,x Is equivalent to bY = x.

The function f(x) = log,x Is the logarithmic functio




\jj The equation of the Iinverse of an
1&] exponential function can be written as the
logarithmic function of the same base.

Conversely, the inverse of a logarithmic
l function Is the exponential function of the
same base.

They are Inverses of each other.
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